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Find, force of wire o the panticle :

Methoo s~ Assumed Moting)
posti T(x) = x(8) T+ yiey o
= x T + ZS‘H'I(&E.")J

tam g | movsn  coordinates
ot cumunt  pasitiord

‘% &b gb___, T =+ [%ﬂcm(%x)\ \ -
L\J :<2 + 3 - {%)A> \ =
! J W Qes(2)

&, = (- 3(05/§>E -‘*j)/\ﬂ;q@sz(%

—

5= 2 (give)

- ~ s A
s 2.

=14

——
——

§8E+_§__ é, S=37%5 (]CV&\)
b
shll need P = nadius of curvatune of path
p= (1+ ("ti/dxy. 13/2‘ )
2
( 49/ 4

JORD LABANDA



I

/. 183,85 =/ T 53/8

S

= 2 [S.—— __,_.(a.S‘/z_):{ ‘t"J ESC&S/ )-f-f
INEEL: g3l 8

= (1. 177 T + 7,Hé//éJ N/ (1183 18)

Totad Force on Padhcle -Fé = % +
E = sl
Ea—PEw = (L7177t + 7 ’-/L//éj‘) /(/./831&)

~5(4 8‘\1‘3 -+ Faw = (6 (/1. 7/7?[}4— 6(7 ‘15//5JA)1/1.IS

-

Fo = 594225 (L + %,asé/j\ (

§(£+3Gbs(g)r)+‘)§‘ 3{&3(2)(_ )

¥
i
=5
s
b
=
e
=
T
@
s
o
)
e
gt
7
5
e
B
5




